1960 GeV ppbar

Top (parton level)
N R B A

Rivet 3.1.10, = 3.2M events

| | ! ! ! | _

B AQ (ttbar) (dy < 0) B

10° = . —

= £+ Pythia 6.428 350 =

— —4A— Pythia 6.428 370 7

— Pythia 6.428 380 -

— —e— Pythia 6.428 p0 ]

10 & & Pythia 6.428 p2010 —]

1= =

107t = Ll =

1072 = —=

—| | | | | | | | | | | | | | ]

:l T T T T | T T T T | T T T T | :

2 & =

o — ]
L0

™ — B

[e0) - ]
AN

S B i

S B _

o B 7
=
>
a

S N |

ke - -
T

£ N |

0.5 _|

| 1 1 1 1 | 1 1 1 1 | 1 1 1 1 |

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


